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R o | BT e | B2 | e | e | B2 | B TR e | B2 | T | & | T
1 100kN/m##8% % 1.00]0.00 ~ 3.51 156.65|3m*x# %% 0.00 ~ 0.66 3.38 18.11| 100kN/m#%#8 2% 1.00{ 10.97 ~ 32.78 156.65|3m*x#8% 5| 25.00 ~ 32.78| 3.38 18.11
s 1.00] 3.51 ~ 11.30 100.00f Z=hkl9t | 0.66 ~ 11.30] 3.00 16.05 s 1.00f 5.00 ~ 10.97 100.00f Z=hl4t+ | 5.00 ~ 2500 3.00 16.05
9 100kN/m##8 %% 1.00{0.00 ~ 348 156.14| 3m%# %% 0.00 ~ 0.40( 3.22 17.21| 100kN/m#%#B 2% 1.00{ 10.56 ~ 33.40 156.14| 3m%x#8% %] 25.00 ~ 33.40| 3.22 17.21
s 1.00] 3.48 ~ 11.27 100.00f Zhkl4t | 040 ~ 11.27] 3.00 16.05 s 1.00f 5.00 ~ 10.56 100.00f Z=hkl4t+ | 5.00 ~ 25.00[ 3.00 16.05
3 100kN/m##8 %% 1.00{0.00 ~ 3.00 147.75| 3m%x#B2 5 -~ - - —| 100kN/mM%#2 % % 1.00{ 10.90 ~ 38.01 147.75| 3m%x#B 25 -~ - - -
s 1.00] 3.00 ~ 10.79 100.00f Z=hki4t | 0.00 ~ 10.79] 2.98 15.95 s 1.00f 5.00 ~ 10.90 100.00f Z=hkl4+ | 5.00 ~ 38.01| 2.98 15.95
4 100kN/m##8 %% 1.00{0.00 ~ 3.28 152.58|3m*x# %% 0.00 ~ 0.09( 3.05 16.30| 100kN/m#%#8 2% 1.00{ 10.66 ~ 39.42 152.58| 3m#*x#% %] 30.00 ~ 39.42| 3.05 16.30
ZHnLs 1.00] 3.28 ~ 11.07 100.00f Z=hkl4t | 0.09 ~ 11.07] 3.00 16.05 s 1.00f 5.00 ~ 10.66 100.00f Z=hkl4t+ | 5.00 ~ 30.00f 3.00 16.05
5 100kN/m##8 %% 1.00{0.00 ~ 3.06 148.79| 3m%#% %] 0.00 ~ 0.01] 3.00 16.07| 100kN/m#%#8 2% 1.00{ 10.80 ~ 36.59 148.79| 3m%*x#% %] 30.00 ~ 36.59| 3.00 16.07
s 1.00] 3.06 ~ 10.85 100.00f Z=h k4t | 0.01 ~ 10.85| 3.00 16.05 s 1.00f 5.00 ~ 10.80 100.00f Z=hkl4+ | 5.00 ~ 30.00f 3.00 16.05
6 100kN/m##8 %% 1.00{0.00 ~ 2.69 142.32| 3m%x#B2 5 -~ - - —| 100kN/mM%#B % % 1.00{ 11.19 ~ 34.21 142.32| 3m%x{B2 5 -~ - - -
s 1.00] 2.69 ~ 1047 100.00f Z=hkist | 0.00 ~ 10.47] 2.93 15.67 s 1.00f 500 ~ 11.19 100.00f Zhl4t | 5.00 ~ 3421 2.93 15.67
7 100kN/m##8 %% 1.00{0.00 ~ 3.04 148.32| 3m%x#B2 5 -~ - - —| 100kN/mM%#8Z % 1.00{ 10.81 ~ 36.00 148.32| 3m%x B2 5 -~ - - -
s 1.00] 3.04 ~ 10.82 100.00f Z=hkl4t+ | 0.00 ~ 10.82] 3.00 16.05 s 1.00f 5.00 ~ 10.81 100.00f Z=hkl4t+ | 5.00 ~ 36.00f 3.00 16.05
8 100kN/m##8 %% 1.00{0.00 ~ 3.54 157.11|3m%# %% 0.00 ~ 0.50 3.28 17.55| 100kN/m#%#8 2% 1.00{ 10.66 ~ 33.39 157.11|3m%x# % %] 25.00 ~ 33.39| 3.28 17.55
s 1.00]3.54 ~ 11.32 100.00f Zhkl4t |0.50 ~ 11.32] 3.00 16.05 s 1.00f 5.00 ~ 10.66 100.00f Z=h 4t | 5.00 ~ 25.00[ 3.00 16.05
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
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